
               `viæj Dj~g evwjcvov KIgx gv`ivmv 1445-46wn.

                                  2q mvgwqK cixÿvi djvdj

       wndR wefvM (20 cviv MÖæc)

‡ivj bs cixÿv_x©‡`i bvg MÖæc ‡gvU cviv wndR-

100

ZvRex`-

50

iv‡n bvt-

50

‡gvU b¤̂i-

200

Mo wefvM cÖvß     

’̄vb

9 mvweŸi L 17-30=14 89 50 50 189 94.5 gygZvR 1g

38 Av: ingvb M 11-30=20 86 50 50 186 93 gygZvR 2q

30 nvweeyjøvn N 1-5,21-30=15 81 50 50 181 90.5 gygZvR 3q

24 bvCg R 18-30=13 78 50 50 178 89 gygZvR 4

28 Avey eKi M 1-17=17 77 48 50 175 87.5 gygZvR 5

29 ZvIwn` M 15-30=16 76 50 48 174 87 gygZvR 6

5 iv‡k` O 19-30=12 73 50 50 173 86.5 gygZvR 7

15 nvgxg Zzlvi K 16-30=15 73 50 50 173 86.5 gygZvR 7

2 bvCg L 13-30=18 71 50 50 171 85.5 gygZvR 8

10 Avãyjøvn (iƒcmv) M 1-20=20 71 48 50 169 84.5 gygZvR 9

14 kwidzj Bmjvg R 19-30=12 68 49 50 167 83.5 gygZvR 10

16 nvmvb L 20-30=11 76 42 49 167 83.5 gygZvR 10

6 mvwKe Q 11-30=20 70 50 45 165 82.5 gygZvR 11

17 wmdvZzjøvn M 11-30=20 65 50 50 165 82.5 gygZvR 11

32 gynv¤§v`yjøvn O 12-30=19 70 45 50 165 82.5 gygZvR 11

7 Avãyjøvn R 1-3,22-30=12 75 45 40 160 80 gygZvR 12

12 Igi dviæK O 14-30=17 69 44 47 160 80 gygZvR 12

27 ZvbwRg L 20-30=11 62 50 48 160 80 gygZvR 12

1 Av: ingvb K 18-30=13 58 50 50 158 79 Rv:wR: 13

11 Bgb †kL N 1-9,21-30=19 59 48 50 157 78.5 Rv:wR: 14

13 wRnv` Q 13-30=18 65 42 50 157 78.5 Rv:wR: 15

20 Avngv` O 18-30=13 57 50 50 157 78.5 Rv:wR: 15

21 Avãyjøvn Avwe` O 14-30=17 56 50 50 156 78 Rv:wR: 15

23 Avey eKi Q 13-30=18 54 50 50 154 77 Rv:wR: 16

26 Bqvwmb K 19-30=12 58 48 48 154 77 Rv:wR: 16

33 gynv¤§v`yjøvn (Lyjbv) O 20-30=11 58 45 50 153 76.5 Rv:wR: 17

3 ivqnvb M 1-20=20 52 50 50 152 76 Rv:wR: 18

4 Rybv‡q` N 15-30=16 57 45 50 152 76 Rv:wR: 18

36 gyQv R 14-30=17 55 45 50 150 75 Rv:wR: 19

37 ‡ejvj R 19-30=12 64 40 45 149 74.5 Rv:wR: 20

8 AvgvbvZzjøvn K 17-30=14 65 40 40 145 72.5 Rv:wR: 21

31 kwidzj Bmjvg N 19-30=11 52 45 45 142 71 Rv:wR: 22

34 gvmyg Q 14-30=17 44 48 50 142 71 Rv:wR: 22

22 ‡iRvDj Q 12-30=19 44 49 48 141 70.5 Rv:wR: 23

19 gvndzR N 1-5,21-30=15 40 49 50 139 69.5 Rv:wR: 24

25 Zvnwmb R 18-30=13 37 50 50 137 68.5 ivwme 25

18 KvDQvi N 1-6,21-30=16 30 48 50 128 64 ivwme 26

35 Rvwn` Q 1-9,21-30=19 21 50 49 120 60 ivwme 27

cix¶v_©x 38Rb| gy:Avjv: 00Rb,gygZvR 18Rb, Rv:wR: 17Rb, Rvwq¨` 00Rb,gvKeyj 00Rb, ivwme 03Rb|

gy:Avjv= 90-100 (cÖ‡Z¨K welq)                  

gygZvR=80-100                             

Rvwq¨` wRÏvb=65-79              

Rvwq¨`=50-64                              

gvKeyj= 40-49                                      

ivwme= 0-39


